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Question Number : 1 Question Id : 4509387201 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The domain of the real valued function f(x) = V9 — Va2 —144.is

Fx) = V9 = Va? — 144 89T aTQe) aPO (a0 0Deb) CZVEY (DF
Options:

[—15,—12] U [12,15]
1. &



[—15,15]

| c12,.32]

Question Number : 2 Question Id : 4509387202 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If set A has 3 elements, set B has 7 elements then the number of many one functions that can be

defined from Ato B 1

A, B AN SHNT 5, 7 Lrosod ON ) 0k A ok B 8

G $0IHOND TV (T oD

Options :

i
1 % 7 7

57 —5
2. %

5':" . ?PE
3. %

?5 1 ?PE
4.

Question Number : 3 Question Id : 4509387203 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
24+3+54+6+8+9+ -+ 2Znterms =
24345464+ 84+94 4 Znaatre =

Options:
3n® + 2n

1.+

4n? + 2n

An?

5n? + 2n

Question Number : 4 Question Id : 4509387204 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the set of equations x+2y+3z=6,x+3y+52=92x+5y+az=Dh has unique

solution. then
DaDEOETO 9399 x+2y+32=6,x+3y+52=92x+5y+az=b § DT AN

&OD), ©))CD

Options :



a+8bER

Question Number : 5 Question Id : 4509387205 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If P and Q are two 3 X 3 matrices such that |PQ| =1 and |P| = 9. then the determinant of
adjomnt of the matrix P. Adj 30 is
P D305 @ @D TO 3 x 3 73N |PY| = 1 OO [P| = 9 &3 &0T

P. Adj 30 G308} ©9:020¢) P(ed8 GR0S) NTGZ

Options :
,[}4
1.4
04
2. ® J
92
3.8
1
92



Question Number : 6 Question Id : 4509387206 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
a 1 2 7 =% =b
IfAz[l 2 b‘andAdez -3 9 5]the1m2+b2+c?2=
¢ 3 2 1, =§ &
g 1 2 i =1 =5
A:[l 2 b‘&@aﬁnl‘qm: 3 9 5|®oBd+bi+cl=
o 1 -3 5
Options :
10
1.4
14
2. &
3 % 11
29
4. ®

Question Number : 7 Question Id : 4509387207 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
; : - T i
If Z is a complex number such that |Z] < 3 and — Samp is > then the area of the region

formed by locus of Z 1s

1Z] < 3 HOAW 7” <ampZ zig a5 DO Z &6 2.8 H08Y o3, LoNa Z

G0%) DOHNG0 TR 5T IR (0D TNE) FTOGeN



Options:

O
1. %

O
2. -

3T
3. &

9
4% 2

Question Number : 8 Question Id : 4509387208 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

L3
The locus of the complex number Z such that arg (m) =

Z—: T 1z
Arg (m) =y eahs DGO Z ©F H08Y Howe BEY DoDIS0.

Options :

a straight line

2.8 DS T
1. %

a circle

2,85 0995030
2. ¢



a parabola

208 T 00N

an ellipse

2.8 Y5950

4. ®

Question Number : 9 Question Id : 4509387209 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

All the values of (87)! are

(813 308y Q) Densden

Options :

i g [w‘?-[— t'), —2i

LB

++/3 +1i,— 2i
2.

+ (V3 —i),2i
3. ®

+(2+1i),i
4, %

Question Number : 10 Question Id : 4509387210 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If , B are the roots of the equation ¥ — 6x —2=0.a > f and @, = a" — ", n = 1. then the

aip—20ag .
is equal to

value of
2('19

@, B O DEBEISN 12 — bx —2 = d‘iné& SO, @ > B HBAM

L=at— a2 1 e0N® &) ) —— L3 Oil)bgr Ce)

20q
Options:
1. ® 5
2. % 4
3.+
2
4. ®

Question Number : 11 Question Id : 4509387211 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If both the roots of the equation x? — 6ax + 2 — 2a + 9a® = 0 exceed 3. then

D000 x2 — 6ax + 2 — 2a + 9a2 = 0 G3WE) BOCH TN 3 § MY GO,
€909 )¢

Options :



1. %
' e e
2. %
5
a< —
2
3. %
11
a=>= —
4.

Question Number : 12 Question Id : 4509387212 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If @ and f§ are two distinct negative roots of x> — 5x* + 5x% — 1 = 0. then the equation of least

degree with integer coefficients having v —a and / —f as its roots is

x° =53 £ 5x2 —1=0 GR0E) B0k D) AT Dreren a HOA fen
@OV, V=, O LN Gd) FTOS HRFe) 50 Ea HONP
DDEOEI0

Options :

x* —3x+1=0

—x*4+5x2 — 5x+1=0



—x%* — 5x24+5x+1 =0

x*—3x341=0
4. &

Question Number : 13 Question Id : 4509387213 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the number of real roots of x° — x>+x* — 1=0 is n. the number of complex roots having
argument on imaginary axis is m and the mumber of complex roots having argument in 2%

quadrant 1s K. then m.n. k =

=St =120 5 0 P PEPO Q0D 1, S0TN0 $6)6 @80 D o
S080:rere) SoDg m HBAM 25 2P0 & B0EFN0 o) Hosdrere Howg K
9ONS, m.n.k =

Options:

6
1.+



Question Number : 14 Question Id : 4509387214 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

All the letters of the word TABLE are permuted and the strings of letters (may or may not have

meaning) thus formed are arranged in dictionary order. Then the rank of the word TABLE

counted from the rank of the word BLATE is
TABLE 5065 R ®9) @5T08 Trat3s @8 5306808 (©850e3009 5.
B TEPS)) D000y 5006 o, @) BLATE 0 B, o705

DO 55,000 TABLE 50 03w8), 7705

Options:
50
1. ®
X
3.+ ol
37
4. ®

Question Number : 15 Question Id : 4509387215 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



5 boys and 6 girls are arranged in all possible ways. Let X denote the number of linear
arrangements 1 which no two boys sit together and Y denote the number of linear arrangements
in which no two gurls sit together, If Z denote the number of ways of arranging all of them around

a circular table such that no two boys sit together, then X: Y: Z =

5 (Hb 2re8, 6 (HEH 2PDEOD APEENR), TV DT, 2 B 2renth
DS ErDISK0T &) SDN BHED oD X DB ) AOD
O NS ErO)SHoE  &Y) SO ©Hote  dopdd Y
ATOT OO0, T8 8 Mo 20 DEF O BB zrend
HENE Er8)880 GOTAEY @RIOT AT 0D Z ArD R, @)
X:Y:Z=

Options :

1:1:21

21:1:1
2.9

Question Number : 16 Question Id : 4509387216 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of ways of distributing 15 apples to three persons A. B. C such that A and C each get

at least 2 apples and B gets at most 5 apples is

15 O3PS 0B A, € 08 2,57,08 8030 Boch HBA B & (B0 5 A
DO STINGOM 0D 23530en A, B, € 930 DO Deine Hog

Options :

57
1.+

Question Number : 17 Question Id : 4509387217 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If the 2, 3 and 4™ terms in the expansion of (x + a)" are 96, 216. 216 respectively and n is a

positive integer then a + x =
(x +a)" G308 DRBBS 265, 39, 465 PN SETT 96, 216, 216 SO 1 28 ¢

8 005 ONB ¢ +x =
Options :

2 |
1.«



n

n —1
3. %

n

B
4. %

Question Number : 18 Question Id : 4509387218 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

-25

If |x|<1. then the number of terms in the expansion of E(I.Z +23c4+34°% 4 ew)| is

P W L R W,
lx|<1 ©oNa, %(1.2 +2.3x + 34x2 + - oc)] 0%} DGR R HTO H0;

Options :
Infinite
50650

1. %

101

2. ®
76

3.«

51



Question Number : 19 Question Id : 4509387219 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

xd-

x| < 1, The coefficient of x? in the power series expansion of ———— is
‘ | P P (x+1)(x—2)

x| < 1,L GB0EY. eh| B3 DG x? A& heaso

(x+1)(x—2)

Options:

3
1. ®

0
2.«

= |
3. %

=3
4, %

Question Number : 20 Question Id : 4509387220 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

1

If M1 and M2 are the maximum values of - and 3 cos?5x + 4sin®5x
11 cos2x + 60 sin2x + 69

. M,
respectively, then — =
! M,

1
11 cos2x + 60 sin2x + 69

M 8050 My 0 DM O05 3 cos25x + 4sin?5x © (186)
NENIBB, 2 =

Options:



[

Question Number : 21 Question Id : 4509387221 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A T m 2 2 A _
CDS? CDSE COS?CDS? CDS? =
Options:
|
1.« 8
1
32
2. ®
1
32



oo | =

Question Number : 22 Question Id : 4509387222 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: v 3 g+ ; ; I CRT A E)
Ina mangle ABC. 1if 4, B, C are in arithmetic progression and cos A+ cosB+cosC = M\

thentan 4 =

B20804BC S, 4, B, Co @0FFG S & 00 HOA

1+2+3
cosd+cosB+cosC = ;5” @_‘JOD@E. tan4d =
¥

Options :

V3
1. ®

2 +4/3
2.«

1
3. &

2 -3
4. #%

Question Number : 23 Question Id : 4509387223 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The general solution of the equation tanx + tan 2x —tan3x = 0 is

tan x + tan 2x — tan 3x = 0 DNE30 AB0E), TS PAS

Options :

T nm
{ll‘t —mb e - m € Z}

3
1. %
T
{x|x =nrxt EOT nmw,n € Z}
2.4
T nm
{_r|.:~: = L —oFr—ormrn & Z}
3 2
3. #
{ +II nm B
xlx = nw L—or——— 1 E }
| — 6 2
4. ®

Question Number : 24 Question Id : 4509387224 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value of x such that sin (2 Tan ™1 ;) = cos(2Tan 1 x) is

sin (2 Tan * %) = cos(2 Tan™ x) @ADEIENTT GOT x DEND

Options:



~1| =

|

Question Number : 25 Question Id : 4509387225 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

: 3 o
Iftanhx = sechy = = and e**¥ is an integer, then e**Y =

H e | |
tanhx = sechy = = 005w e¥7 2.8 JFT00 WONS, e** =
Options :
2
1. %
2.x S
3% |
6



Question Number : 26 Question Id : 4509387226 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In AABC. iff b+c:c+aia+b=7:8:9, then the smallest angle (in radians) of that
triangle 1s
MBC S b+cictata+b=7:8:9 @ond, & (BHz0 B A §@o
BAADSS)

Options :
4
—1
B (&)
2. % 3
3
Cos™ 1 (—)
3. % 5
1!
4
4. %

Question Number : 27 Question Id : 4509387227 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In A ABC. if (a + ¢)? = b? + 3ca. then 2—: =

ate

AABC S, (a + ¢)? = b2 + 3ca ©O0NS, — =

Options :

1.



w’3/2

“
e
v 3.cos
2
2.
=
CcOSs
2
3. ®
: (A — C)
sin
) 2
4, %

Question Number : 28 Question Id : 4509387228 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
. g . ; 3
In A ABC.1f A, B, C are in arithmetic progression, A = \’?and ryry =137, then R =

_
AABC & A,B,C ) @OSEAS G om, A =00 1yr; = 13r ©ONS. R =

Options :
V3
1. %
2
2. 8



Question Number : 29 Question Id : 4509387229 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Let a=3i+4j- 5k, b = 2i +j- 2k. The projection of the sum of the vectors a,b on the

vector perpendicular to the plane of a,bis

a=3i+4j -5k b=2i+j -2k 90%0w0. a,b SOFO SO0 ©02) AAF a,b

© INBO TTNEY DI D

Options :
0
1.
5 % 42
7V2
3. %
1
sx V2

Question Number : 30 Question Id : 4509387230 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In APQR, (Lﬁ +3j+ 6@, (:2? +2j+ E':E) and (SE +j+ E':E) are the position vectors of the
vertices P. Q and R respectively. Then the position vector of the point of intersection of the angle
bisector of Pwith QR 1s

PQR (B20206 P, Q, R © e OFe ST (4 +3] + 6k), (21 +2] + 3k),

(3i +] +3k) 900E P Gng) 569 26D ;0 B QR D DOGOT 2ot
AL

Options:

6i + 5/ + 9k
1. %

2i —j + 3k
2. %

(5i + 3j — 2k)
3. %

Pog teq ax

2" g
4.

Question Number : 31 Question Id : 4509387231 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Iff =i+j+kand g = 2i —j + 3k then the projection vector of f on § is
f=i+j+kDOOMW g=2i—j+3k @S 7D f B0 ©0 I3 2 DEF

Options :

1. %



2 |
S +j+k)

2
E(Zf —j' + 3.11]

2. %
. .
—(i+j+k)
3. & 3
Lo i3k
1q i+ 3k)
4, ®

Question Number : 32 Question Id : 4509387232 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If 6 is the angle between f = i + 2j — 3k and § = 2i — 3j + ak and sinf = Ethen

7a° + 24a =

F=i+2j— 3k 0O0 g =2i —3j + ak ©eDCHS 560 6 @O sinf = E@m@*

7a? + 24a =
Options :

10

1.+

12



36

15

Question Number : 33 Question Id : 4509387233 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The distance of a point (2,3, —5) from the plane . (4i — 3j + 2k) = 4 1s

7. (40 — 37 + 2k) = 4 500 DO (2,3,-5) 20N (10 TS0

Options :
11
1. %
1l
2. & v
15
3. ¢ )
11
4w N 38

Question Number : 34 Question Id : 4509387234 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

If x;, X5, X3 ... X,, are 1 observations such that Y(x; +2)? = 28nand X(x; — 2)* = 12n.
then the variance is:
Xy, X9, X3 o Xy OR 1 86N Y(x; +2)% = 28n 080G Y(x; —2)% = 12n.

9aDEEIY G T DY:

Options :
12

1.+

5 % 14

3 % 16
20

4. %

Question Number : 35 Question Id : 4509387235 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Three numbers are chosen at random from 1 to 20. then the probability that the sum of three

numbers 15 divisible by 3 1s

1 DO 20 B3 i) 0D DO AT HODZOD ATFEYRIS0T e ) 00T

& 0D B0 3T arAoIDGETNE Do2reseh
Options:

1

1 % 114



147

5> % 342
16
47
3. %
32
85
4.4

Question Number : 36 Question Id : 4509387236 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Two persons A and B throw three unbiased dice one after the another. If A gets the sum 13. then
the probability that B gets higher sum 1s

A B0 B @7 99D S530en NP PSS SO 2,50 Share
DBTBEDH DNDRTYD. A FoOS JwBo 13 BONS, B @W0odET) @H

INTR), FOTOHE DOF5eH

Options :
5
216
1. ®
=
2. %

3.4



35
216

20
216

Question Number : 37 Question Id : 4509387237 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
8 teachers and 4 students are sitting around a circular table at random. then the probability that no

two students sit together is:

8 D0E) Galers0EN DEA 4 (H ATHEN 2,5 HHTTE 2O THEP
ATy, 50m 8 th )08, & G dsden $O2 Bom &GOS

NOTANIS
Options :
Fj
88
1. %
14
33
2. ®
8
33
3. %

4.



Question Number : 38 Question Id : 4509387238 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A bag contains 6 balls. If three balls are drawn at a time and all of them are found to be green.

then the probability that exactly 5 of the balls in the bag are green is:

2,8 D00 S0¢) 6 206000 §00:9. TAKH0G 2,370 3 20HON B 93 B9 AN

S35020)) 20T SDFTTA. WS 8 D0Y 0D DAIBOM™ 5 S5
20EDNOBTRS N0LT5eh:

Options :

~1| =

Question Number : 39 Question Id : 4509387239 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In a Binomial distribution. the difference between the mean and standard deviation 1s 3 and the

difference between their squares is 21, then P(x = 1) : P(x=2) =
2,8 B30 DB S0, D5 HOOI $00I06) DES§ Beien 3
SOOI TR ST sNESS el 21 WONB P(x =1): P(x=2) =

Options :
1 % i |
1:2
2. %
1:3
3.+
3:1
4. %

Question Number : 40 Question Id : 4509387240 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

When an unfair dice is thrown, the probability of getting a number & on it is P(X = k) = kP,

where k=1.2. 3, 4. 5. 6 and X 1s the random variable denoting a number on the dice. then the

mean of X 1s

2,8 Q)8 5050 DS DRGSO TR O 0D SPOTOHH
NOZPS5e P(X = k) = k2P, k = 1,2,3,4,5,6 anOO arD8 ) oI3) 0D
OSrEDE DT X T AP, TR @080

Options :

25
1. %



2. ®
441
3% 0
441
91
4.«

Question Number : 41 Question Id : 4509387241 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The equation of the locus of points which are equidistant from the points (2. 3) and (4. 5) 1s
(2, 3) B0 @, 5) DodYO S5 Grdo § 3O0T Doy T
DCHNEBEI0

Options :

x+y=20
1. %

x+y=7
2.

4x + 4y = 38
3. %

x+y=1



Question Number : 42 Question Id : 4509387242 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The transformed equation of x* — y? + 2x + 4y = 0 when the origin is shifted to the point
(-1,2) is
T DIT0SS DOYN 107 PO DO (-1,2) § P8

2=y 4 2x + 4y = 0 B30, Eraroehd Dangdeo

Options:

iy =i
1. %

.43y =1
2. ®

x2—y*+3=0

4x% +9y2 = 36

Question Number : 43 Question Id : 4509387243 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The equation of the side of an equilateral triangle 1s x + v = 2 and one vertex 1s (2, —1). The

length of the side 1s

2,8 s 2% | 82920 G308, 2.8 2020 x +y = 2 000 (2, 1) 2.8 90 o

2020000 0308, &rcho)



Options:

- | -
|| ra

-

[§S
=
03]

< | =
3] | w]

S

".":-.
W]

Question Number : 44 Question Id : 4509387244 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The orthocentre of the triangle formed by lmes x + y+ 1 =0;x -y -1=0and

3x+4y+5=01s
x+y+1=0 x-y-1=0, 3x+4y+5=0 O3 0908 0B |@2HE0 Tws)

©0230|Jei0
Options :

1.+

(UJ U)



(L, 1)

Question Number : 45 Question Id : 4509387245 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

If the slope of one of the pair of lines represented by 2x” + 3xy + Ky? = 0 1s 2, then the angle

between the pair of lines 1s

262 + 31y + Ky? = 0 rD0D Oaraniod R .8 B9 aren 2 @ond Sgraivifo

¢ 860

Options :
2
1.4
T
2. 8 3
3. % ©
T
4



Question Number : 46 Question Id : 4509387246 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The length of x-intercept made by pair of lines 2x% + xy — 6y2 —2x + 17y - 12 =015

202 4y — 6y —2x +17y - 12 = 0 @ OFroinio x @30 2 TR @0oSdSDO0

A

Options :

2
1. %

10
2. %

3
3.¢

20
4. ®

Question Number : 47 Question Id : 4509387247 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

From a point (1, 0) on the circle x* + y2 — 2x + 2y + 1 = 0 if chords are drawn to this circle.

then locus of the poles of these chords with respect the circle x* + y* = 41s

W4y 24274120 5980 D 0 (1, 0) Dotda) NO& & SHTS agen

AR 1% 4 y2 = 4 S9B0 ¢ als, 882750 (e Docheo.
Options :

=24



=5

2. %

x2+y?—x—y=0
3. %

2yt =i(x+41)
4, %

Question Number : 48 Question Id : 4509387248 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If A and B are the centres of similitude with respect to the circles x2 + y2 — 14x + 6y +33 =0
and x* + y2 4 30x — 2y + 1 = 0, then midpoint of AB is

x2 4+ y2 - 14x 4 6y +33 = 0008050 22 +y2430x -2y + 1=0 5B G, A
005 B € AFIT0|Senen eons, A, B G308 55 Docha)

Options :

(53



Question Number : 49 Question Id : 4509387249 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
C11s the circle with centre at O (0. 0) and radius 4, C2 1s a variable circle with centre at (e, f) and
L 3 g5
radivs 5. If the common chord of Cy and C; has slope i and of maximum length. then one of the

possible values of @ + f 1s
C1 8% 590, 3080 0 (0. 0) SO aX§rdo 4 FOAN0D. 1 OF NSO
501830 (a, B) BN T30 5§D, S8 S9N C1 DO €2 © roddCh 2378

%), e j T 606 K03 e EOR &0B, o + B 5 59T Dendes 2863

Options :
21
5
1. %
3
5
2.
1
3. % 5
19
B



Question Number : 50 Question Id : 4509387250 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the pair of tangents drawn to the circle x* + y? = afrom the point (10. 4) are perpendicular.

thena =

(10, 4) D)0y DO x? % = a? ST AN )509r 00 ©OOT GO,

=

Options:
V58

1.+

> % 58
2v63
2v/45

4, %

Question Number : 51 Question Id : 4509387251 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If x — 4 = 0is the radical axis of two orthogonal circles out of which one is x% + y? = 36, then
the centre of the other circle is

2,8 9 12 + y2 = 36 P 1OA BOCH ©0DDAN SHTE NPErE0 x -4 =0

©ONB, 8 SHTOS DT S980 Bg) Fo/do

Options:



1. %

(9.0)
2. ¢

(6.0)

(12, 0)
4. ®

Question Number : 52 Question Id : 4509387252 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the normal chord drawn at (2(1, Za\-"'E] on the parabola y* = 4ax subtends an angle 9 at its
vertex, then 8 =
y? = dax HOWOO0NOR) (24,2012) Docde) ¢ HDS eDeroa 2, T 30 5 6

800D, 6=
Options:

45°

90°
2.

135%



ﬁUG

Question Number : 53 Question Id : 4509387253 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If the ellipse 4x2 + 9y? = 36 is confocal with a hyperbola whose length of the transverse axis is

2. then the points of intersection of the ellipse and hyperbola Lie on the circle
AO5598 0 srcded) BochP EONS 28 @& HTHO0S 42 +9y? = 36 HSyS0
Jrahor o, 8 HUSyBo HB0 BITHOMMNE GE) DO

DOHO GO o

Options:

x2+y* =81
1. ®

x2+y?=16
2. ®

¥4 y® =28
3. ®

Question Number : 54 Question Id : 4509387254 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



: 13 T _ ; ’
If the eccentricity of the hyperbola g z—z=l is sec , then area of the triangle formed by the

asymptotes of the hyperbola with any of its tangent 15

. 3 7 Y W, o
S - o=l e8dmdooho Glug, GB0(¢é seca ®QNE, 8 BBHTHOAO

T, @306 350D HBAN TAVE) BN D)ETDE IOT (BeH

3P0

Options:

a®b? sec? o
1. %

EJZ

|tan «f
2.9

a’tan’a
3. %

(a?+b*)tan’a
4, %

Question Number : 55 Question Id : 4509387255 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



‘ e i 2 . :
If e1 and e) are respectively the eccentricities of the hyperbola — - %=1 and 1fs conjugate
z ug

hyperbola. then the line P ?=l touches the circle having centre at the origin. then its radius is
it

i HOOW ¢ € SEAT Sosoahsy X - L1 Hdaw R Sodkuif

a

DTHOAH0 Ty &BL0Cede) @aNS, 2i+ 2 =1 09 Hredochs) S|

€ &

(1) TR, DTN, & Syehein Gy, argr o

Options :

2
1.+

ey tey
2. %

€1€2
3. %

4
4, %

Question Number : 56 Question Id : 4509387256 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The orthocentre of triangle formed by points: (2,1,5), (3,2,3)and (4,0,4) is

(2,1,5),(3,2,3)s00050 (4,0,4) Dochayod BT |9eHEa0 G30%), ©0250(B5M

Options:

(3,1,2)
1. %



(3.2.3)

2. %

(3,1,4)
3.

(1,4,0)
4. %

Question Number : 57 Question Id : 4509387257 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

IfP=(0,1,2),Q0 = (4,—2,1)and 0 = (0,0,0) then 2£P0Q =

P=1(0,1,2),Q = (4,—-2,1) B0 0 = (0,0,0) ®ONS LPOQ =

Options :
1. % .
T
4
2. ®
T
3.8 3
T
2



Question Number : 58 Question Id : 4509387258 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If the perpendicular distance from (1, 2,4) to the plane 2x + 2y —z + k = 0is 3,thenk =

(1,2,4) 0BG 2x 42y —z+k =0 & erE () ©022CrE0 3 @ONS k =

Options :
4

1. %

2.4

3. % 9
19

4, ®

Question Number : 59 Question Id : 4509387259 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

L [1 1 l_
eolx  ex—1l

Options :
0
1. %
1



Question Number : 60 Question Id : 4509387260 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

r 0, % =i
7 PR g ¢ A |
2 orx=1
Let f(x) =< f
ST X, Ford a8 e
-3 .
L forx =2

then which of the following is true

0N, 1806 73S A Hedgasn
Options:

f 1s right continuous at x = 0

x =058, f @A 50 DD I

1. %

f 1s left continuous at x = 1

¥ =199, f OO 056 29D I 0
2. ®



f 1s right continuous at x = 1

v =130, f IO 50& @DDHS) 50

f 1s continuous at x = 2

x =2 3Q), f DD 5] 50
4.«

Question Number : 61 Question Id : 4509387261 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

1+x

\ x
If f(x) = (—) is continuous at x = 0 then f(0) =

1—x

A
x =036 f(2) = (1)~ @dDI0L50 ©owd, £(0) =

Options :
1

e /2
1. %

o2
2.«

=
3. %

g_ljfz



Question Number : 62 Question Id : 4509387262 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The function f(x) = |x — 24] 1s

Fx) = |x — 24] @D DDAV

Options :

Differentiable on [0, 25]
[0, 25120 @58 A0

1. %
not continuous at x = 24
x = 24 ¢ @D )5 30 52D
2. %
neither continuous nor differentiable on [0, 25]
[0, 25130 @D 156300 5°¢D DB 9:55>O%M 5D
3. ®
Continuous on [0, 25]. but not differentiable on [0, 25]
[0, 25] 20 €D )05, 5°Q) 9555500500 5°¢
4. &

Question Number : 63 Question Id : 4509387263 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



I —_— d?
Hy= Jsum + 4/ /sinx + ysinx + - o then the value of—y at the point (m, 1) 1s
I

y = Jsmx-l— y sinx + /sinx 4+ o0 G:CJCDJ_@; (m, 1) 2 0D cijf)— =

dx?

Options :
2
1. %
'
2.
|
TR
3.8
1
4, % 2

Question Number : 64 Question Id : 4509387264 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

If f(0) =0, f'(0) = 3, then the derivative of vy = f(f( f(f( f(x))))) atx =0 1is
£(0) =0, £'(0) = 300 x =039 v = F(F(F(F(f(x))))) Th0E) ©e58e3650

Options:

16

L
12



Question Number : 65 Question Id : 4509387265 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The value ¢ of Lagrange’s mean value theorem for f(x) = * + 24 in [0. 1] is

[0, 1] 65 £(x) = e* + 24 5 BITOB 0G50 Densd DF0ed0 TBEY ¢ Denes

Options :

log(e — 1)
1.4

log(e + 1)
2. 8

log(e + 24)
3. %

log(e — 24)
4, ®

Question Number : 66 Question Id : 4509387266 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Equation of the normal to the curve y = x® + x at the point (1. 2) is

y = 12 + 1 9D J(5°08 (1, 2) 9D Dochay Y @02 T TEy DMESEISN

Options :

x—3y+85=10

1. ®

2L 3y 7=
2. &

x+3y+5=0
3. %

43y —7=10
4.

Question Number : 67 Question Id : 4509387267 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Displacement s of a particle at time ¢ is expressed as s = 2¢* — 9t Find the acceleration at the

time when the velocity vanishes.
2,8 80 G308y 'W(I0da s, t DA @ s =263 -9t T Qu) AN,
3150300 Ao 50520 9T W05 G € 685EAD OB?

Options:
1. % 2
63



Question Number : 68 Question Id : 4509387268 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If a running track of 500 ft. is to be laid out enclosing a playground. the shape of which is a

rectangle with a semicircle at each end. then the length of the rectangular portion such that the

area of the rectangular portion is to be maximum is (in feet).

B NGRS BEF OTSITFEN €5ed) EIT €5ed) 28 SN0 T 2.8
500 ft. 50N 1675 0D, S Ve[ ariio Bwg) FFO0
(BTN 0T & BF e8| 2P0 T Srcha (@ CHIHOS)

Options :

100
1. %

125
2.

150
3.8

200



Question Number : 69 Question Id : 4509387269 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

= — 1
[ dx

x32x* —2x2 41

Options :

14 2% F2x°
2x2

+C

(1 +2x2 + 2x%) 72

+c
2x2
2. ®
W .
c
2x2
3. ®
(1—2x2 +2x4) 2 )
i
2x2
4,

Question Number : 70 Question Id : 4509387270 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
“.x'grﬂrz_l,t4
e — o :t’ s
1+ x8

Options :



S i

c
3
2. ®
(Tan~1(x*))?
: +c
4
3. &
(Tan*(x*))?
-+ e
4, % -

Question Number : 71 Question Id : 4509387271 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

pd
[—dx
J 14+ x4+ x2

Options :

5 2x—1
?Tﬂﬂ_l( — )‘|‘f‘
V3




'-.,‘.3 v.lg

3. %
2 _y(2x+1
—Tan ( poz )-I—r:
V3 Y

4. %

Question Number : 72 Question Id : 4509387272 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

1
’- ———dx =
J x?(V1 + x2?)

Options :
—JxZ 41
—%C
"
1.«
vxe +1
_ i
2. & A
—x2 -1
: e
3. ® .
VxZz —1
4+



Question Number : 73 Question Id : 4509387273 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

sin 7x
, , dx. =
sin 2x sinbHx

Options:

log (sin5xsin2x) + ¢

1. =%
log sin5x + log sin 2x + ¢
2. ®
1 . 1 .
—log sin5x 4+ —logsin2x + ¢
5 2
3.4
—log sinx+ S logsinx + ¢
5 2
4, ®

Question Number : 74 Question Id : 4509387274 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
s _
’- log(1 4+ tan x)dx =
Jo

Options :

i log2 41



N
g

2. &
s
e

3. &%
® a2
g %

4,

Question Number : 75 Question Id : 4509387275 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

_ (1 1 1 )
b )b e =

| / ¥ [ E
nee\yvnZ vYn?f -1 i e t el

Options :
2\.,-"’1"?
1. ®
2
Vi
2. ®
T
3.+ s
31
2



Question Number : 76 Question Id : 4509387276 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The area (is sq. units) bounded by the curves x = y? and x = 3 — 2y? is

HIESO0 x = y2 HBAW x = 3 — 272 ©OT DOV FTOF0 (5.CFAS )

Options :
1. % -
2. ®

4
3.¢

6
4. %

Question Number : 77 Question Id : 4509387277 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

I IR
———dx =

.
Gy o
Options :

3



I
~+1

-
2. %
T2
4
3. %
T2
4.« 2

Question Number : 78 Question Id : 4509387278 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation (1 + tany) (dx —dy) + 2x dy = 0 is

9580 Da1EBEI0 (1 + tany) (dx — dy) + 2x dy = 0 B0E), PGPS S
Options:

e*(ycosx +sinx) +sinx =c¢

1. %

e*(ycosx + ysinx —sinx) + cosx =0
2. %

e¥(xcosy+xsiny —siny) =c¢
3.4



e¥(xcosy+xsiny+siny) =c

Question Number : 79 Question Id : 4509387279 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The general solution of the differential equation x dy — y dx = \/x? + y2dx is

Options :

Jpalx® et

v+ 2+ yT=cx

2. &

TpJat ety
3. &

x —+/x2 +y2 = cy?
4. %

Question Number : 80 Question Id : 4509387280 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



i : d’y 1;2 dy 4/3.
The sum of the order and degree of the differential equation x (@) = (1 & E) I8

1/ 4
2\ 2 s g
95800 N8B0 x (%) = (1 +j—i) 0308 H8TEI0 B Sdriee
o
Options :
5
1.
3
2. ®
12
3. %
4, ® 4
Physics
SectionId : 450938154
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40 40
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Question Number : 81 Question Id : 4509387281 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The potential difference across the ends of conductor is (30 + 0.3)V and the current through the

conductor 13 (5 + 0.1)A. The error in the determination of the resistance of the conductor is
28 a8 D00 N FBN0HO B0 (30+03)V HOAL FT0 5o

DS (a0 (5 + 0.1)A. a8y D60 BELONS o
Options :

1%
2%
3%

4%

Question Number : 82 Question Id : 4509387282 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A body thrown vertically upwards from the ground reaches a maximum height ‘H’. The ratio of the

¥ : 8 :
velocities of the body at heights s and o from the ground 1s

370 0G § 82 000 DGR 28 e DO (10 I ‘H'. 27D N0k

= 0008 =80 38 59 Fro 28

Options :



4:9

1. #

AL 5
2. &%

3:2
3.
4 % 3:8

Question Number : 83 Question Id : 4509387283 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The angle made by the resultant vector of two vectors 21 + 3j + 4k and 2i — 7] — 4k with x-axis
18
21+ 3) + 4k B0 21 — 7j — 4k Boch AOF® HO JOY, x-85 08 TS0
Options :

60°

1. ®

45°

90°

120°



Question Number : 84 Question Id : 4509387284 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The relation between the horizontal displacement x (in metre) and the vertical displacement y (in

metre) of a projectile is y=3x—08x% The time of flight of the projectile is

(Acceleration due to gravity = 10 ms™%)

28 (D380 alg) 88z darost P8040 x (b6 &) Hoch §Bze0

TS50 y (OBD &) © G5 H02080 y=3x-082 N3N0 TOS

ROIPEI0D S0 SO0 (HEE S 580 = 10 ms?)
Options :

1.5R
1.«

Question Number : 85 Question Id : 4509387285 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



A 100 kg gun fires a ball of 1 kg horizontally from a cliff of height 500 m. It falls on the ground
at a distance of 400 m from the bottom of the cliff. The recoil velocity of the gun 1s (Acceleration
due to gravity = 10 ms™?)

500 m KO DGO DO 100 kg Ko 2,8 arS 1kg (9e5072 (i) 208 § &2
desrosdor DO08. & 208 3pd0 b Hod 400m ErdoS XD
DBSE. 0B S T} (IFIGE S0 (Hehed s & 8690 = 10ms™)

Options:

0.6 ms1
1. &

0.8ms™ !
2. ®

0.2ms™ !
3. %

0.4 ms™1
4,

Question Number : 86 Question Id : 4509387286 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Ablock of mass 5 kg is placed on a rough horizontal surface having coefficient of friction 0.5. If a

horizontal force of 60 N 15 acting on it. then the acceleration of the block 1s (Acceleration due to

gravity, g = 10 ms ™)

5 kg [(3350° O 2,8 B0 aed (96980 0.5 SRS (5% § B33 dairoedd 5107

GO, & B 2 60N §82 daroddo 200 A TR0, & Ay 5680

=
e

(e 5 ¢ e09e0 = 10 ms2)



Options:

7 ms 2

1.

5 ms 2

10 ms 2

: -2
4 % 15 ms

Question Number : 87 Question Id : 4509387287 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The average power generated by a 90 kg mountamn climber who climbs a summut of height 600 m

in 90 minutes is (Acceleration due to gravity = 10 ms™2)

90 kg © 2.8 93 TP 600 m ) (10 2TV 90 ADTOS 9ATFOHES
BTN D 050 ((Ded & 683690 = 10 ms™2)

Options :

100 W

25 W
2. ®

200 W
3. %



50 W

Question Number : 88 Question Id : 4509387288 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A boy weighing 50 kg finished long jump at a distance of 8 m. Considering that he moved along a

parabolic path and his angle of jump 1s 45°. his initial KE 1s

50 kg € ST 28 2200 €200 0 &) 8 m TG0 AT, @ HTHO0D
DE0S EBFENTDA DO e 45° 08 AP, BN

9653 B ¢) (fedzs 45

Options:
1 960 J
1560 7]
2. %
246017
3. %
4 o 1960 T

Question Number : 89 Question Id : 4509387289 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The moment of inertia of a rod about an axis passing through its centre and perpendicular to its
1 . : . . .
length 1s = MI2. where M is the mass and L is the length of the rod. The rod is bent in the middle

so that the two halves make an angle of 60°. The moment of mertia of the bent rod about the same

axis would be
195509 M, §°¢6) L > 56 TR0E) sh520¢50sy 08 ek 56 Srchey$ vomorm
e &8 0 60T T 3cked s (@raddo = MIZ $3Toch iferren 60° S0 Ther

$A0 R 50 SO Sotod. 8 S0ttt 5@ Bk 2 l2rndo

&3 @80 HSoP
Options :
1
— MI?
43
1. %
— MI?
12
2.
e J.MLZ
24
3. %8
T ML?
4w 8v3

Question Number : 90 Question Id : 4509387290 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A uniform rod of length ‘2L" is placed with one end in contact with the earth and is then inclined
at an angle « to the horizontal and allowed to fall without slipping at contact point. When it becomes

horizontal. its angular velocity will be

ey ‘2L ey 2.8 80 é@ 28 D0 270 @A BOcde DG 25706 @ §890
TP G0BE® TONP G0UAG0D. 8 3 X &8 Do 5O rshom
550 (8008 Hch ) B, 2708 deirosdom 53088 o Sead So

Options:

2L
3gsina
2. %
6g sina
J L
3. %
L
gsina
4. ®

Question Number : 91 Question Id : 4509387291 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two simple harmonic motions are represented by y; = 5 [sin 2mt ++/3 cos 2Trt] and
¥, = 5sin [Zm‘ +g] The ratio of their amplitudes is
: = Y 2 T v, gl)
y, = 5 [sin2mt + 3 cos 2mt| SHOO y, = 5sin [ZHHII &% A8dETen Toh
DEFTTme18 HOTOD AFDQT?) 0. T3 08N Vi)
Options:
1

1. ®

5 ¢ &1

Question Number : 92 Question Id : 4509387292 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



When a mass “m’ 1s connected mdividually fo the springs s, and s,. the oscillation frequencies are
vy and v,. If the same mass 1s attached to the two springs as shown in the figure. the oscillation

frequency would be
m’ (5T 51 DB 5 (200 ©F) S0 3O DA0DIYCE S0 FPedea) 50
SEST v, DO v, BT (K50 Toch (D)0MHOH HHOS BrRSEY

SODNOTI0 B E0I Tedes)d50 Does?

Options :

vy + Uy

Question Number : 93 Question Id : 4509387293 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



A satellite moving round the earth in a circular orbit has kinetic energy ‘E’. Then. the mimimum

amount of energy to be added so that it escapes from the earth
25700 A TS 8856 BMDES) 28 Ga|faF0 G308, (1BIE E”. 8 2D
D0G DeroDHN0 TOGTNS T8 WOAOIIOVN B 43

Options :

4
1. &

2.4

.

2E

Question Number : 94 Question Id : 4509387294 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



The elongation of copper wire of cross-sectional area 3.5 mm?, in the figure shown, is

(Yoopper =10 X 101 Nm2 and g = 10 ms™2)

D& TS S0, Thed HOEIG 3TO50 35mm? ©wd, IS 7

DO Q0eh? e
(Yoopper = 10 X 10 Nm™ 800 g = 10ms ™) N
Aluminium |
m
4 kg

Copper || [0.5m

Tkg

Options:

107*m
1. &

107 m

3 % 107®m

1072 m

Question Number : 95 Question Id : 4509387295 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



Water 1s flowing in streamline manner in a horizontal pipe. If the pressure at a point where cross-

sectional area is 10 em® and velocity 1ms™ is 2000 Pa, then the pressure of water at another

215

D [HaTsT0 AOEB §9) 2.8 § B2 D06 FMOS DBST IS 3T050 10 cm?

pont where the cross-sectional area 5 em

o) 2.8 Dochay 5 (DTFrSH0 1ms™! HOOM [DTEP 0 2000 Pa WONS
DTS 37050 5 cm? (1) sFE DO I EF0 D
Options:

2500 Pa
1. ®

2000 Pa
2. 8

1000 Pa

”
4 500 Pa

Question Number : 96 Question Id : 4509387296 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A metal ball of mass 100 g at 20 °C 1s dropped in 200 ml of water at 80°C. If the resultant

temperature 1s 70 °C. then the ratio of specific heat of the metal to that of water is
G 20°C SO 905) 100g © 2.8 SeTi HemR) 80°C SO 98 200ml NS
2EBDSYD 8 O G 70°C BB SeTsd HOCH I3 T,
LT QS DN

Options :

1. %



2. B

%/
3. &

2
4., ® /l

Question Number : 97 Question Id : 4509387297 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The efficiency of a heat engine that works between the temperatures where Celsius-Fahrenheit

scales coincides and Kelvin-Fahrenheit scales coincides 1s (approximately)

2,8 &) 000( B0 ) YOR-2PER a7 ST NS0 sBAD 3O 3% - 70

8 ST DSBSSTN0 &l D5 ATROT TR ¢35 ¢ (R0 )

Options :
45%

1. %

> % 35%
60%



Question Number : 98 Question Id : 4509387298 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Initially the pressure of 1 mole of an ideal gas is 10°Nm ™2 and its volume is 16 litre. When it 1s

adiabatically compressed, its fmal volume 15 2 litre. Work dome on the gas is

" 3R

[molar specific heat at constant volume = ?]

1306 &3¢58) T DA, DSDOSTETED ST 105Nm=2 OGN 16 08, &

FOHD VAL HoDGTVS HETASID T HO DINBSFH0 2 OLB.

Toka) 2 200 92 [ 080re Arerd Ao =

Options:

72 k]
7.2K]

720 kJ

360 Kk

Question Number : 99 Question Id : 4509387299 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



An ideal gas 1s taken around ABCA as shown in the P-V diagram. The work done during a cycle is
28 868) FON) & (808 PV 5008 Srdtd ABCA H50H @EHH
HOTONEVS TOVHOD DA J0eH?

P
'y
T B(3V.3P)
+ A C(3V.P)
(V.P) |
F D' >V
Options :
2PV
1.+
PV
2. %
= PN
3. %
Zero
SN
4. ®

Question Number : 100 Question Id : 4509387300 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ratio of kinetic energy of a diatomic gas molecule at a high temperature to that of NTP i
28 € 5000 D) QS G116 Q) Gd) o) aDBAN NTP Q) t5a)) )l
T (35O AN

Options :

1. %
5/3
2. %
5
3. ® /?
:75
4. &

Question Number : 101 Question Id : 4509387301 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The vibrations of four air columns are shown below. The ratio of frequencies is

S0d H806S end TONP0ZPE F0DTEN WIS a3 Pdeayrse A )&l

& N L .| e L |

" ®) (0 (@
Options :

1. %



1:2:-3-4

1=:3:2:4
2.
1:4:3:2
3.
1:4:2:3
4,

Question Number : 102 Question Id : 4509387302 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A person can see objects clearly when they lie between 40 cm and 400 cm from his eye. In order

to merease the maximum distance of distant vision to infinity. the type of lens and power of

correction lens required respectively are

28 355 50 8¢5 DO 40 em SHOAL 400 cm N3G SP0 16) YYD W )o)OTT

APGIO. & e Oga (00m 9506 Erdo JO5F GoEeod

GI0RrF0LINON §E250 BTN QDN §6F fraNP50e0 ST

Options :

Convex. 0.25 Diapter
o025, 0.25 CAairad

Concave. — 0.25 Diapter
- EFSTG, —0.25 CAOSTR0D



Concave. — 0.5 Diapter

- DTS, - 0.5 CHArRD

Convex, 0.5 Diapter

, 00235, 0.5 505790
®

Question Number : 103 Question Id : 4509387303 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

If a slit of width ‘x” was illuminated by red light having wavelength 65004, the first minima was
obtained at § = 30°. Then the value of *x"1s

v 3ehen)) e VOZD 65004 BB0ATES0 HO Ah) SF0BS (B0 D, 6 = 30°
G TS $0 DI IB0R. BOVS %’ D)

Options :

1.4 X 10™* um

1.2% 10 " m
1.3 pm

3.4
1.2 pm

4,

Question Number : 104 Question Id : 4509387304 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
A neutral ammonia (NH;) i its vapour state has an electric dipole moment of magnitude

5 x 10730 C-m. How far apart are the molecules centres of positive and negative charge.

$6Q SIMANH (NH;) o) DS 5x10%0  Erenod-nid dKis
B31C032r%0 D80 88 Ain) 8. AR DO Sarad S0 SHBaH
20EF5F 50|38 aES B0 Dens.

Options:

4125 X107 1?%m

3135 X 107% m

2.

3.125 X 10 % m
3. &%

4125 x107®m
4, &

Question Number : 105 Question Id : 4509387305 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

If four charges q; = +1x 1078 C,q; = 2% 1078 C,q3 = +3x 1078 C, and

Qs = +2 X 1078 C are kept at the four comers of a square of side 1 m. then the electric potential

at the centre of the square is

g =+1%108Cq,=-2%108Cq3=+3x1078C, OO q,=+2x107%C (fe

e STFTOD 1 m 2920 10 28 D0 TN FTO 5O S0, eS|

50(230 36 D3 FRIVOHO



Options:

1 % 300V
200V
2.
510V
410V
4. ®

Question Number : 106 Question Id : 4509387306 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

Eight capacitors each of capacity 2 pF are arranged as shown in figure. The effective capacitance

between A and B 13
21F © ST 1) QMO SareD H06 Bra S0 ehd jpéarow.

A OO B D0D)® s 1) DO TIRTBIR) N

% C
| | |
|| |
c
Ae— C C | B
| | | |
I I
C L
Options :
10 pF

1.



12 pF

16 pF

4 pF

Question Number : 107 Question Id : 4509387307 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

IfE; =4V and E, = 12V. the current in the circuit and potential difference between the points P

and Q respectively are.

E, = 4V 580 E, = 12V 0 ©900, 6106 S S00006 3635700 s,

P BN Q Doched® s1E)5 FBVANO B0 VeV ST
E=12V

1Q Q
P AAM—IH—AM—
Ei=4V 1Q
80
AWV
Options :
1 % 1A, 8V
1A, 6V
0.84, 6.4V

3.



0.84, 8V

4. ®

Question Number : 108 Question Id : 4509387308 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Two identical cells gave the same current through an external resistance of 2 () regardless whether

the cells are grouped in series or parallel. The mternal resistance of the cells is
B DTSR sered Bodot3d FES E09, Bor dsrosddor 0D, 20

© aPTSABBE0S 55 KON [DSaTONTNRT 0. 63 €05 AFE0 ewsd
Options :

10

1. ®

050

1.54)

2.00

Question Number : 109 Question Id : 4509387309 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two toroids with number of turns 400 and 200 have average radii respectively 30 cm and 60 cm.

If they carry the same current. the ratio of magnetic fields in these two foroids 1s

400 8050 200 HE Hog EORS Toch STranG © HED TR0 devaden
ST 30 cm OO 60 em. TOBOE &S’ HSTHH VS (T EO. BN
D83 308 D866 @AD 08 T@e) A

Options:

2:1

Question Number : 110 Question Id : 4509387310 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Three rings, each with equal radius ‘1’ are placed mutually perpendicular to each other and each
having centre at the origin of coordinate system. ‘I’ is current passing through each ring. The

magnetic field value at the common centre is

 FEPG0 SOB, T DEDIS DSeTFOtNENS) e BOMHED NS TFREN 2.8
RS ©0™ 009, A T0E) SO, AETHE 5350 T, Hre)
D0 3D 50900 I3 Es30B 050 56 R0 T (a0 HENSS

»X

Options :

Zero
1. ®

(vV3-1) ak

21r

Mol

2r
3.

Hol
V2
2r

Question Number : 111 Question Id : 4509387311 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
One bar magnet 1s in simple harmonic motion with time period T in an earth’s magnetic field. If its

mass 1s increased by 9 times the time period becomes

2,8 OTONRPY0u, 257 AN 06 51 HOBS BOSSYS FOSN TS 98¢
P06 )28 IR DO A, SOTOHL 08 GRE} (g T°7 9 3ED DBA,
R BORXIG 5 e

Options :

3T
1.+

9T

4T

V3T

Question Number : 112 Question Id : 4509387312 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

A coil of nductance L is divided into 6 equal parts. All these parts are connected in parallel. The

resultant inductance of this combination 1s

L 28850 $O 1 ) B N 2FTPENT DBR0VAAID. & &) 2P
NSPOSBISNT §e00¢0 2BASA. @oN & OGN0 GE) DO (50
MOV

Options :



L
2. v 36
L
24
3. %
6L
4. ®

Question Number : 113 Question Id : 4509387313 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

A 50 Hz AC circuit has a 10 mH mductor and a 2 Q resistor i series. The value of capacitance to

be placed i series mn the circuit to make the circuit power factor as unity 1s

50 Hz AC SO0DSNES 10 mH [DEE:50 208000 2.2 © DBED 35S EensnGesa.
&S00S By DY TEESD 248m SoBB, SOMNS S
OUSVOANEATAATAIOWN

Options :

1.014 x 107%F
1. ®

1.014 x 1073F

\.;';:)



26 %10 9F

4125 x 1073F

Question Number : 114 Question Id : 4509387314 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The structure of solids 1s mvestigated by using

S AT HBTCIS SHBrROT EGeTen
Options:

Cosmic rays

. 5Pa02S 8earen
B-ravs
B-8&gaen

2. %

X-rays
;8

3 X-88earen
y-rays
y- 8&earen

4. %

Question Number : 115 Question Id : 4509387315 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time: 0
The surface of a metal is first illuminated with a light of wavelength 300 nm and later illuminated

by another light of wavelength 500 nm. It is observed that the ratio of maximum velocities of photo

electrons 1 two cases 1s 3. The work function of metal value 1s close to

2,8 S 270 G0E) G000 300 nm SBATEYS0 o 506 derod |Han
BOHAAIR. Sared 500 nm SSOHTFY30 Ko 0TS 5708 83eTOS (AN
TG, 180 H0GEINOS FNSEN JO[TE © (8 e A 3
P 1OR0TBIE, L0 3T TEL R ISAN D) ST

Options :

6.48 eV
1. ®

1.23 eV

417 eV

2.28 eV
4. &

Question Number : 116 Question Id : 4509387316 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The ratio of minimum wave length of Balmer series to maximum wavelength in Brackett series in

hydrogen spectrum 15

RS SUNO0S 2 (3RS i) dEoHTTHRNE, 2756 (3SR sty
SSONTTNS ffe) Dad)ed

Options :



#h:1G

1. %

4: 36
2. %

9:100
3.

100 : 9
4. %

Question Number : 117 Question Id : 4509387317 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The half-life period of a radioactive element A 1s 62 years. It decays mto another stable element B.

An archagologist found a sample in which A and B are in 1 : 15 ratio. The age of the sample is
A 3 DA Sre$0 @PENS SO0 62 0568 TN, 86 B &3 8 Y
SreZom neso ToHA08. 28 NTdBs FRIS EDHFW) drTd A

SO0 B e 1115 DSBS GO & ST I

Options :

248 vyears

248 Q008 YT N

186 vears

, . 186 D 0ED YTREN



124 years

124 c000€5 TN

310 years

. 310 CO0e0€d TN

Question Number : 118 Question Id : 4509387318 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The current gamn of a transistor in common emitter configuration is 80, The resistances in collector
and base sides of the circuit are 5 k() and 1 k() respectively. If the input voltage 15 2 mV. the output
voltage 1s

&0 GT0 DN0S A 28 IR0 B0y ek 9O 80. DEOEI HOOKW
S0 F2) SOOFOSQ AT HHIT 5k HON 1k, A ST 2mv
90 D O B2

Options :

4V
1. #®

04V
2. %

0.8V
3.¢

8V



Question Number : 119 Question Id : 4509387319 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Four logic gates are connected as shown in the figure, If the inputs are A=0,B =1andC = 1.

then the values of y; and y, respectively are

T B6) oD HH0S TFNS S0P 0B, ST 4=0,8 =

108010 € = 1800 y; aBA ¥, D€V )T

A —

L r

Options:

1,0
1.4

1.3

0,1

0,0

Question Number : 120 Question Id : 4509387320 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The maximum distance between the transmutting and receiving antennas for satisfactory
communication in line of sight mode is 57.6 km. If the height of the receiving antenna is 80 m, the

height of the transmitting antenna is (Radius of earth = 6.4 X 10° m)

Son O HOBS NodyNES (D80 §0 ok sotTye s
0O HBa) G0 57.6 k. (TS 80T %) 80 m @O0 (NRFY S0
D) (Ararsrdo = 6.4 x 10°m)

Options:

28.8m
1. %

51.2m
2.

25.6m
3. %

144 m
4, ®
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Question Number : 121 Question Id : 4509387321 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
If the longest wavelength of spectral line of Paschen series of Li*" fon spectrum is x A. then the
longest wavelength (in A) of Lyman series of hydrogen spectrum is
L @057 SEIO0S 2P (3638 T SGtade o0 i dborEdso

x A 900 ITEBS SPH0S BHS 13638 TBS HENE0D 506

$80iE8s0 (o)
Options :
12
Tx
1. =%
7x
2. 12
20x
2T
3. %
TG
4, ® 26

Question Number : 122 Question Id : 4509387322 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



If vy 1s the threshold frequency of a metal X. the correct relation between de Broglie wavelength

(1) associated with photoelectron and frequency (v) of the incident radiation is
X 00 28 SF0 RuE 6808 TS0 v, s Fo8 JOFS &
EAVAITARIN c%@ﬁ“ﬁé) SO0NTI30 30 (1)aBOI DBJNESE) FlIsa)308) (¥)

NVRLENGTOTNIN(oFAToTATo)

Options :

Question Number : 123 Question Id : 4509387323 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

In which of the following sets, elements are not correctly arranged with the property shown in
brackets?

1808 ) ADBOS roFen 2736 & AP G608 NOT @036 ¢S E?

Options:



S = Se = O (Electron gain enthalpy)

(DO|FS [T DOTD)Y)

F = O = Cl (Electronegativity)

(B0Ed DD FTed 86d)

Na = Li = Al (Metallic radius)
(S5 Fsardo)

Na > K > Ba (Metallic nature)

(S5 H52350)
4.

Question Number : 124 Question Id : 4509387324 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

In which of the following. there is no change in hybridisation of the central atom?

800 &3S BACHOD, S0(EE HBSFEN) N0EOEBL0 & St Beh?

Options :
NH; + H*— NH

1.+

BF, + F~— BF;
2. ®

PClg 7 C]'E_> PC]E
3. %



C}.FE + Fz_«" ClFS

4. ®

Question Number : 125 Question Id : 4509387325 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

In which of the following sets the sum of bond orders of three species is maxinmum?

806 & HDBOES Surch B ee) 206 [$070 o H8910?

Options:

B,,CN~,0%"

021 Fz, Ug-'-

03, N;; 0F
3.«

C,,0,, He3™"

Question Number : 126 Question Id : 4509387326 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At 240.55 K. for one mole of an ideal gas. a graph of P (on y-axis) and V' (on x-axis) gave a
straight line passing through origin. Its slope (m) is 2000 J mol™. What is the kinetic energy

(in J mol ™) of ideal gas?

240.55 K 99, 2.8 IrO e3¢5¢) oY, P (-5 02) shBoid V! (x- @3 09) ©
SC8 AR T SreDocha) ok 3Ty A0ETD ©DOD0H. T TN (m) 2000
mol™, &¢3¢5) sr0S0) (fede34S (7 mol o) ) 0e8?

Options :

1 % 2000

> @ 3000

6000

1500

Question Number : 127 Question Id : 4509387327 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



At STP. a closed vessel contains 1 mole each of He and CHy. Through a small hole. 2L of He and
IL of CHy was escaped from vessel i ‘t"” minutes. What are the mole fractions of He and CHy
respectively remaining 1n the vessel? (Assume He and CHj as 1deal gases. At STP one mole of an

0 T T
STP o960 2,8 0P PSS He 20800 CH 0 2878 3PS 17309 Gy aw. 28
05) B0[90 0 2L © He 8O 1L CHs 20H0F IDpFonarow. PSS
DAY He oDBOM CHy © PO 27men ST 06?7 (He HOAN CHy 0
SOGTANYON BDTHM. STP & 28 O 8AG)TFoN) 24 L ©

DNGTETR) &5D0THAD)

Options :

0.512. 0.488
1. %

3. B
2. %

0:329: .67l
3. %

0.488. 0.512
4. &

Question Number : 128 Question Id : 4509387328 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

10 g of a metal (M) reacts with oxygen to form 11.6 g of oxide. What is the equivalent weight of

M?

10g© 28 Sar0 (M) 88188 & 105500 116 g © 8515 & G100, M B0,

eErE08 2PH0 DOeh?



Options:

Question Number : 129 Question Id : 4509387329 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
What 1s the enthalpy change (in J) for converting 9 g of H20 (1) at +10°C to H20 (1) at +20°C ?
(Cp (H20 (1)) =75 T mol™ K) (density of 2O (I) =1 g mL™Y)
H10°C o565 163 9 2 © Ha0 (1) & +20°C 56 K0 Ha (1) TP 370, 10250 0G0 ) e
(1O N0eh?
(Cp (H:0 (1)) =75 Tmol K1) (1,0 (1) PO(S¢d =1 g mLY)

Options :

750

75

L]
|
Ln



Question Number : 130 Question Id : 4509387330 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A.B. Cand D are some compounds. The enthalpy of formation of A(g). B(g). C(g) and D(g) 15 9.7.

~110, 81 and -393 kJ mol™ respectively. What is AH (in kJ mol?) for the given reaction?

A(g) + 3B(g) — C(g) + 3D(g)

A B. C 0800 D e §) Sd¥aren. Alg). B(g). C(g) SO0 D(g) © S036

OGO IO ST 9.7, ~110, 81 SHBA 393 kI mol™. B3 9858 AH (&I mol?

©S) 0eh? A(g) + 3B(g) - C(g) + 3D(g)

Options:

[

2 G

=k l83

+1418.3

Question Number : 131 Question Id : 4509387331 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



At equilibrium for the reaction

A (g)+B, () == 2AB(y)

the concentrations of A,, B, and AB respectively are 1.5 x 10M, 2.1 x 10 M and 1.4 x 1073M

in a sealed vessel at 800 K. What will be K;, for the decomposition of AB at same temperature?

S0P GO PSS 800 K )G
Ay (9)+By(g)

—— 2AB(g)
D50 DeDTRE 6 Ay, B, DOON AB © TCaedeN SN
15x 1073 M, 2.1 X 107°M HO0K) 1.4 x 1073M. &F &5ff(lfeh ¢ AB D00 R K,
20eH?

Options :

0.62
1. ®

> @ 1.6

0.44

227

Question Number : 132 Question Id : 4509387332 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following when added to 20 mL of a 0.01 M solution of HCI would decrease its pH?

& (800 RS BAY 20 mL © 001 M HCl [TSePR§ 0D [ese0 pH

eHehy0d?

Options:



1.

20 mL of 0.02 M HCI

v 20 mL © 0.02 M HC1

20 mL of 0.005 M HCl
20 mL © 0.005 M HCI

20 mL of 0.01 M HCI
20mL @ 0.01 M HCl

3. ®

40 mL of 0.005 M HCl
. 40 mL > 0.005 M HCI

Question Number : 133 Question Id : 4509387333 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify the incorrect statement

AB 52 55D (HOoHOB

Options:

Saline hydrides on electrolysis liberate dihydrogen gas at anode
VBS TBE o0 DS NS BSE S BITIBBS FAYD
DG DO

CH, 1s electron precise hydride

CH, O T &0 D)o (e 3| B&



Chromium hydride conducts heat and electricity

- (E'D0H0 P BE G DN ST SFE0

Hydrides of group 15 elements behave as Lewis acids

15 &5 {2 055 TR BE 0 PN e3a)"eNTT (2)oOa o
4.

Question Number : 134 Question Id : 4509387334 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following alkaline earth metals does not form hydride when it 1s heated with

hydrogen directly?

818065 30 5060 T B8 S'eFOS BA IMEZR & (396855 O 3B TS

TR 3B )GD?

Options :

Be

Question Number : 135 Question Id : 4509387335 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In the given structure of Diborane 01. 02 are respectively

\BQH\BﬂEH
/ JH/ %

AD S B SBS U720 0y, 67 €0 I
H H H

NN\
B 8, B ') 8;
P
H H H
Options :
1019, 118°
1. %
118% 101°
2. %
g7 120"
3.«
1209, 979

Question Number : 136 Question Id : 4509387336 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0



In which of the following sets allotropes of carbon are correctly matched with their uses?
1. graphite — crucibles
1. activated charcoal — water filfers
i, carbon black - fuel

The correct answer 13
1806 2 HDHOS 5°G)S ErarosTren ¢ GHTITOS BT BSBohRFW?
i (PR -
i 5886 S-S D06 e
i, 5PN aDR - ROGN0
QAOADA a0
Options :
1. 111 only

i, iii o307 €530

1. ®
11. 111 only
5y AL NN
1, 11, 111
1, i1, 111
3. ®
1. 11 only
i, i o375
4. :

Question Number : 137 Question Id : 4509387337 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Which of the following is/are estimated by titrating polluted water with potassium dichromate
solution in acidic medium?

&30 QSFeE0ES Senach AR SPErRaNO FEEN |08 ©0FSrIS0 B0
506 BRVSED T

COD | BOD | DO
I I |1II
Options :
I only
13078533
1.+ .
IT only
I o337(€5 330
2. ® )

II & III only
I & III o307 €5 530

LJL I

Question Number : 138 Question Id : 4509387338 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The number of isomers possible for a dibromo derivate (Molecular weight = 186 u) of an alkene
is (Br=80u)

2,8 30 g} B  6565)09)0 (980270 = 186 ) §) AP 5D ArC3 a5
0% (Br=80u)

Options :

Question Number : 139 Question Id : 4509387339 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0

In Kolbe's electrolysis of sodium propanoate, products formed at anode and cathode are
respectively
SFAOHO 1SS THED 5§ Dk D% OBV, 8SE s

FHRO IO B¢ GBI ST

Options:

C2Hs, H2
1. %

C3Hg. Ho



CqHiyo. H
3 C4HI10- 5D

H>. Ca4Hio
4, &%

Question Number : 140 Question Id : 4509387340 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Zinc oxide (white) is heated to high temperature for some time.
Observe the following statement regarding above process
I. Zinc oxide colour changes to pale yellow
II. The type of defect formed is ‘metal deficiency”
III. Some Zn’" and e are present in interstitial places

The correct statements are

205 &5 )& (Bens)) A 506 SO0 2ty @HY Gaf|ied SO SRTD.
2 (DEADHEL H020HOD 1808 5§D HOFO0I0E

I 205 &3)% G0 Bed DY e

L 8BS SN0 B0 oS D0
M §Q) Zn* 0805 & e @er)0s0re |HTFTOS S0Eron

QB WD

Options :

L. II only

L IT S 5o
1. % )

2.



L. IIT only
I. III o50°( 5o

I1. IIT only

,, L 07| €550

III.III

Question Number : 141 Question Id : 4509387341 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Benzoic acid undergoes dimerization in benzene. x g of benzoic acid (molar mass 122 g mol™) is

dissolved in 49 g of benzene. The depression m freezing pomnt 1s 1.12 K. If degree of association

of acid is 88 %. what is the value of x? (K for benzene = 4.9 K kg mol™)

B0dS S BoSon§ B0 BeHBEGea0% )08 x g © BoSows e
(3rerD (565503 122 g mol ™) 49 g © BoAS S E6ROTTED. sRBSIT Do) éb
L12K. 300 G30%) aTeids 3690 88 % 69003 x DN 0h?

(B0 O308) K; = 4.9 Kkgmol™)

Options:

2.44
1.+

122

3.66



4.88

Question Number : 142 Question Id : 4509387342 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
At T(K) two liquids A and B form an ideal solution. The vapour pressures of pure liquids A and B
at that temperature are 400 and 600 mm Hg respectively. If the mole fraction of liquid B 1s 0.3 in

the mixture, the mole fractions of A and B in vapour phase respectively are

T(K) 58 A 0050 B @) BOch 56 28 836) [T [raw. &8 ddl|/fe
G HE (Sren A HOAM B © aP)reN AT 400 HBON 600 mm He.
FD0ES |¢3:50 B ALY, 36 27110 0.3 W0, 2P )OS A OB O Ird

2T DT

Options :

0.391, 0.609
1. %

0.509,0.491
2. ®

0.609. 0.391
3.4

0.491. 0.509
4. ®

Question Number : 143 Question Id : 4509387343 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
In which of the following Galvanic cells emf 1s maximum?
(Given: Ey 2+, = —2.36 Vand E§) o~ = +1.36 V)
1808 55 0TS, & 0EFDE emf O O?

([0 )OO Epaejygg = —2.36 V 00O EQ) p0- = +1.36V)

Options:

Mg | Mg2* (1 M) || 2C1” (1 M)]| Cl, (1 atm), Pt

Mg | Mg?*(0.01 M) || 2C1~(1 M)| Cl;, (1 atm), Pt

Mg | Mg?* (1 M) |] 2C17(0.01 M)| Cl, (1 atm), Pt

Mg | Mg?*(0.01 M) || 2C17(0.01 M)] Cl, (1 atm), Pt

4.

Question Number : 144 Question Id : 4509387344 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Isomerisation of gaseous cyclobutene to butadiene 1s a first order reaction. At T(K). the rate

constant of the reaction is 3.3 X 10™*s™*. What is the time required (in min) to complete 90 % of

this reaction at the same temperature? (log2 = 0.3)

FORT2SES, TS T wrsyRsEea0 ToMo a8 [N (Zr08 B985,
T(K) S¢ 88 H05% BED V0080 3.3 x 107471 3B eagf|(fed I 8 285 90 % o0
9708 DD SO0 (min ) 07 (log2 = 0.3)



Options:

1. 116.67

233.34
2. %

58.34
3. %

350.0
4, &

Question Number : 145 Question Id : 4509387345 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Match List-I with List-II

List-I List-IT
(Reaction) (Enzyme)
A | Hydrolysis of starch to maltose [ | Diastase
B | Conversion of proteins to peptides IT | Pepsin
C | Hydrolysts of sucrose to glucose and fructose | III | Invertase
D | Glucose to ethanol IV | Zymase
The correct answer 1s
ORI ORI S eI
ORI OQ-I
(W569) (NOB)
A|3r8) QSrSE T 2o I | doire
B [ (9850 &b DB OO Sth )8 T | 229
C | B2 o P82 D805 (52 0 Boddac | I | 250
D| P58 0B a0S6 V| 238

DB 22

Options:

4. &

A-III. B-II. C-I, D-IV

A-L

B-IlI. C-II. D-IV

A-IV, B-II, C-III, D-I

A-T

B-II, C-III, D-IV




Question Number : 146 Question Id : 4509387346 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The following data 15 obtained for coagulating a positively charged sol in 2 hours

2,8 98 O o 2 10LOES 13,0860 TR0HEH 020600 1§08 GT 050

©20V0H

Conc. of CI” inmol L™ Result
5x107° Sol not precipitated ( @*’t’% & § O(i)@(fl})
6x107° Sol not precipitated (PO @JJLJSAS'JO ToGE )
7x107 Sol precipitated ('O @453 20 TOHOE)
8x107° Sol precipitated ('O @35 20 TOHOE)
1x 107 Sol precipitated ('O PJ}JJ_EE 0 T0606)

What 1 the coagulating value of electrolyte for this sol?

&rS 8, 815 BE T8y 950858 DN 0?7

Options :

7x 107>
1. ®

75 12

5% 1072

9 x 1072
4, %



Question Number : 147 Question Id : 4509387347 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
In which of the following metals extraction. impurities are removed as slag?
1. Al i1. Fe . Cu iv. Zn
The correct option is
808 & &5 D360, SHOTEN ¢S SN0 SHTOH T 0N?
1. Al i1, Fe i1, Cu iv. Zn
PS[OVENENIN VAN O
Options:

. iL. 1v only

[

i, ii, iv o307 €5

1. %

1. i1 only

i, 1i o37°( €530
2. ®

i1. 111 only

i1, 111 377|533
3. -

i1. 1i1. 1v only

i, i, iv o30°( €530
4, %

Question Number : 148 Question Id : 4509387348 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Two of the products formed by the reaction of ‘X’ with HCI are gases. What 1s ‘X?

HC1 S X 985 S D8 (8052708 BO areHeyen. X’ &8 d&?
Options :

NaNO,
1.«

NHES

Cazb;

NHESOS

Question Number : 149 Question Id : 4509387349 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The correct order of oxidizing power of the given ions 1s

29 50GS 9ATS © 383155 P50 TEY BTN (800

Options :

Vol < Cr,02~ < MnOj
1.+

VOI < MnO; < Cr,03~

MnO; < Cr,05~ < VOJ



Gz < V05 < MB0g

Question Number : 150 Question Id : 4509387350 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Match the complexes in list-I with their hybridization m list-II

ORISR N0FFOD O TS are3 Ty H0E0E608 25TV

List-I List-II
Complex Hybridization
SRVWEIVAWN 005083620
I Ni(CO), |A sp>d?
1 [Ni(CN),]* | B d?sp?
I | [Co(NH3)e** | C dsp?
IV [CoFg]*~ | D sp

Options :

I-C, II-D, II-A, IV-B

1. ®

I-D, I-C. II-A, IV-B
2. ®

I-D, II-C, II-B, IV-A
3.4

I-C. II-D, II-B, IV-A



Question Number : 151 Question Id : 4509387351 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the following

List-I (Polymers) List-IT (Type)
A | Buna-N-Rubber I | Fibre
B | Terylene II | Thermosetting polymer
C | Polystyrene Il | Elastomer
D | Urea-Formaldehyde resin | IV | Thermoplastic polymer
1806 A6 §E03 aPOaD ©ed) BSNEIO
AL LTI
A | 2 N-O23)H [ | &%
B [ 2803 I | &) PO
C |>ORBS I | dergfodd
D | OrBair-aron0) 36 82 | IV | 38 5 ardeb

Options :

A -TIL B-1 C -1V, D-1II
1.

A -TII. B-1V. C-1I D-1I
2. ®

A-T1T B-1I. C -I1I, D-1IV
3. %

A-1V, B - III, o ! D-1I



Question Number : 152 Question Id : 4509387352 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which of the following is not an essential amino acid?
1808 TS DO €355%58 DS €5eDs5D 5°CH?

Options :

Lysine

Soo

[ T

Histidine
SN

EQD

Glutamine

(DD

Methionine

MOTF DS

Question Number : 153 Question Id : 4509387353 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following 1s NOT a disaccharide?

1808 IS DO BFEDE 5207

Options :



Sucrose

S-S
Fructose
D5

2.9
Maltose
JreS2S

3. ® )
Lactose
e85

4, ®

Question Number : 154 Question Id : 4509387354 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which of the following molecules contain sulphur atom i their structures
I. Morphine
II. Heroin
III. Penicillin
IV. Terpineol
V. Cimetidine
808 TS & YO BVE) DT30S DB HESTENS) HOENOH?
L r8)®
I 3P0°00R

fil: BB

V. B8)3rO

V. oG
Options:
LIV
1.
IT, ITT
2.
I, V
3.4
V.V
4. &

Question Number : 155 Question Id : 4509387355 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In Wurtz-Fitting reaction a compound X reacts with alkyl halide. What 1s X?

&0 -D80 B85S X @ 3880 88,6 FBES 158550608, X ©HSE
NI,

Options :

1. ®%

: 2
2.4

: LOH
3. %

: _NO,
4, &

Question Number : 156 Question Id : 4509387356 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The product (C) in the following reaction sequence is

B0 0T ENOCS E5ed )50 (C)

/O/\ Br, aq. KOH
R TE =t
Br

Options :

OH

ST

1. ®
OH
}ﬂjij:::::::}ffflxxx
2. ®
;zJ{:::::::(ffféhﬁt}ﬁ
Br
3. %

4. &



OH

Br

Question Number : 157 Question Id : 4509387357 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
An organic compound (X) has an empirical formula C4HgO. This gives a pale yellow precipitate

with 1odine in NaOH solution. What 15 X ?
2,8 8070 Hssn (X) @edzrs ardder (0. 30 NaOH 3608 &airdd &
Deda) G0t 853 T I, X @93 aE?

Options :

CH3 CH2 CH2 CHO

CH>= CH CH(OH) CH3

e
, 5 CH3—C—O—CH;
CH3; CH» O CH = CH>
4, ®

Question Number : 158 Question Id : 4509387358 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Arrange the following in the correct order of their acidic strength

1808 a¢3Q. 63 @36 2367 HBTDS [ZX006S” @B Jodn

OH L OH OH

X ﬁ 3 N (L x

,J = | ﬁJ\ | Z

& | NO>

I I i v
Options :

M=IV=1=1I

1. %

IV>TI>1>1I
2.4

MI>1>MI>1IV
3. ®

[>IV>TI>11
4, ®

Question Number : 159 Question Id : 4509387359 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



What is ‘Y’ in the given reaction sequence?

(1) oleum Conc. HNO;

> X > Y
(1) NaOH

(i) H”

1BOB TS 15O YV @S0 DE?

(i) .00 e HNO;
G)NaOH = = 2
(iii) H"

Options :

OH
CVNDZ
1, %
OH
DEN©/ND2
2. %
OH
L NO;
e
NO
3. % .
OH
0N NO,
e
NO,
4.



Question Number : 160 Question Id : 4509387360 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
Identify B in the given reaction sequence
CN
MgBr

ether H-0

808 BT80S B & HB0thesn

CN
MgBr
+ O &0 L
Options:
N,MQE‘:r
I
| N )
P =
1. %
H
N



N,DH

/

k-

®



